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Do Now: Set up the trig ratios for both angles A gpd.B
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What do you notice about some of the ratios? [
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In triangle ABC where <C is a right angle, cos (A) = 2/3. What is the value of sin (B)?
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Practice Problems WOO!

1.In scalene triangle ABC shown in the diagram below, m<C'= 907

. BAFXB = g0°

C B

Which equation is always true?
1) sinAd=sinE

2) cosd=rcosB

3) cosd=smC
)

4) smd = cos

2.In right triangle ABC with the right angle at C, sin(A) = 6x - 0.5 and cos(B) = x + 0.025. Which approximate value

best represents the value of x7
bx-S=%+ 02< 6><~ 525
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3. Which expression is always eguivalent to smx? : . S

1) cos(90°-x) _—

2) cos(45°-x)

) 3) cos(2x)
4) cosx

21 .
4. In AABC, where £Cis a right angle, cos 4 = g What is sin5?
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5. If sin(x — 3)° = cos{2x + 6)°, then the value of xis
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6.If sn2A = cos 34, then mZ4 is
7. In right triangle AAC with the right angle at C, sin(A) = x + 0.15 and cos(B) = 3x — 0.79. Which approximate value
best represents the value of x7

& Which is a value of xif sm60® = cos(x + 10)°?

g If cos(2x - 1)® = sin(3x + 6)°, then the value of xis
1) -7
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10. In right triangle 45 with the right angle at C, sin(A) = 2x + 0.1 and cos(B) = 4x — 0.7. Which approximate value
best represents the value of x7

11 If sin{ A - 30)° = cos60°, the number of degrees in the measure of angle 4 is
30
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